
GB 6675.1-2014 GB 6675.2-2014 GB 6675.3-2014 GB 6675.4-2014 
GB 19865-2005 GB 5296.5-2006

Criteria of product operation: 

EN 71  EN 62115



 2.Open the battery compartment cover and insert two1.5 VAAAbatt.
 Close the cover; Remove the battery in the same way.

Audi RS 5

12V7ah / 12V10AH

37-95 months

127.5*68*54CM

3.0 km/h -- 4.5 km/h

8-12hours(charge), 60 minutes-80 minutes(use)

AC220V、50Hz(input), DC12V(output)

Two pieces of AAA 1.5V

12V30W(drive)*2  12V8W(turm)*1 12V30W(swing)*1



Do not drove the  car in the water. Do not put the water or liquid on the car.
Do not drove the  car in the room to protect children and furniture.

Kind reminder for charging:

Chargers and battery maintenance:

Make sure the battery has been charged over 18hours before the first use.

Installation should be done by adults.
Put small parts out of the young children’s reach 3 years old or even younger).
The children can not drive alone without adults.
After charging the storage battery by the adults, the children can use the car.
Put the plastic bags far away form the children.
Please check the product regularly to make sure that the electric wire, plugs, outer 
case and other parts are normal. If something is damaged, please stop using the 
car until it is fixed.
Two AAA dry cells are for the remote controller.
Use all the cells or batteries in right way.
If the line with no connection Do not insert the output socket.
The instruction is important, please don’t throw away!
The toy should be used with caution since skill is required to avoid falls or collisions 
causing injury to the user or third parties.
Warming! Not suitable for children under 36 months. Small parts. Choking hazard!
Transformers or battery charger user with the toy are to be regularly examined for 
damage the cord, plug, enclosure and other parts and in event of such damage, 
they must not be used to until that damage had been repaired.
The packaging must be retained since it contains important information.
Warming. Not to be used in traffic.

Do not charge over 20 hours.

Connecting terminal can not be a short circuit.

Charge the battery by the adult.

1. Taking away the seat first,and urscrewing the battery cover,finally get out of or 
put in the battery,and then screwing the battery cover,finally put the seat as 
well as screwing the bolt. 

Connecting terminal can not be a short circuit.
Make the battery charge once a month at least when the car is not driven for long time.

In order to protect charger,battery and circuit,please use the special charger and 
battery from our factry.

It is normal to have some heat for charger and battery when it is charging.(low then 60°C)

After using 1 hour,you should charge in time. It takes 8 to 12 hours to charge normaly.

Connect the charger connector to the battery connector,then insert the charger
on the plug.

Please turn off the power when the car is not driven. lf the car is not driven for a
long time,please plug out the battery connector.

When the battery is in low power,the car just go forward,but not left or right.
When it can ont go farther or shake,you should change the new battery at once.

Reviewer mirror

Front hood

Front windshield
Steering wheel Seat

Rear trunk cover

Drive motor

Rear wheel

Front wheel

Car body

Wheel cap



Car body

Installation Steps:

Front wheel

Rear wheel

Seat

Wheel cap

Front windshield

Steering wheel

Reviewer mirror

Rear trunk cover

Drive motor

Front hood

Awning

1

2

3

1.Install the front wheel：

3

a.  Remove the  f ron t  whee l ,  then pu t  one whee l  on  every  s ide  o f  the  f ron t  ax le .
b .  Put  one sh im to  every  s ide  o f  the  whee l ,  and then t igh t  the  M10 se l f - lock ing  nu t .
c .  F ina l l y  pu t  the  cover  o f  the  whee l  a imed a t  the  c l ip  o f  the  whee l  and f i rm ly  sc rew.  
(Refer r ing  to  P ic tu re  1 )

2.Install Rear wheel:
a. Put the wheels on the both sides, put on the gaskets, t ighten the M10 self-locking nut. 
b. Put the wheel cap aimed at the buckle of the wheel and firmly the wheel cap. 
(Referring to Picture 2)

3. Install the seat:
a.Take out the seat and two guide rai l  under the seat aim at  the s lot  insert  of  the car body. 
b.Then press the button under the seat,  push the seat to the end. 
(Referr ing to Picture 3)

4

5

6

7

8

9

10

11

12

Round cap

Round cap

M10 anti loose nut

M10 anti loose nut

Shim

Shim

Button From now on T with slot insertion



4. Install the steering wheel:

6

5

4

a.  F i rs t ,  connect  the  key-press  l ines  o f  s teer ing  whee l  w i th  the  l ine  o f  car  body,  
and pu l l  ou t  o f  the  screw in to  the  s teer ing  rod  and a im a t  the  ho le ,  p ie rc ing  and
screwing  down.  (Refer r ing  to  P ic tu re  4 )

5. Install Reviewer mirror and Front windshield:
a. Install the front windshield into the card slot of the car body, and then use two black 
M4*12 screws to tight it.
b. Install the rearview mirror into the car. (Referring to Picture 5)

6. Connect the power:
a.  Turn  the  f ron t  hood up  f rom the  f ron t .  
b .  Then connect  p lug  f rom the  ba t te ry  w i th  ba t te ry  p lug  f rom the  rece iver.
c .  F ina l l y  cover  the  hood.  (Refer r ing  to  P ic tu re  6 )

ButtonButton

Insert in place

Inward can be used to select the steering wheel

M4*12 black screw M4*12 black screw

Two power connection plug connection, press the instrument 
panel on a button to start the power switch, the vehicle power!

Forward to open the engine cover



7

8

7. Charging indication:

8. Dashboard indicator Pics:

a.  When the  power  d isp lay  i s  about  10V,  p lease charge the  ba t te ry  in  t ime.  Charg ing  ho le  in  
the  seat  be low.  Unscrewing  the  c losure  door  and charge.   
b .  When charg ing ,  the  car  w i l l  in  the  pro tec t ion  s ta te  and the  car  can ’ t  work ;  when pu l l  ou t  
the  charger  f rom the  charge s ta t ion ,  the  car  can use normal ly.

9. 2.4G Remote control instructions:

1.  Press  two bu t tons  o f  “ fo rward”  and “backward”  about  3  seconds to  s ta r t  the  code and the  
l igh t  i s  g l i t te r ing .
2 .  Turn  on  the  power  swi tch ,  the  l igh t  i s  a lways  l igh t ing .  The code is  comple ted ,  and then the  
car  can normal ly  use .
3.  Press the “S” button to adjust  speed. One l ight  means low speed, two l ights means medium 
speed, and three l ights means high speed. Press “P” button means stop and all l ights are glittering.
Note:  the remote control  should be used by adul t， and chi ldren don’ t  touch.

a.  Power Switch ---  (1)  Turn on power switch , the l ight  wi l l  be br ight  and there is engine sound. 
(2) Dashboard equipped with music funct ion and i t  can connected MP3/ Cel lphone, other external  
music playback device,  adjust  the volume, Power display,  etc.
b.  Steer ing wheel - - -  (1)  The steer ing wheel equipped with music and horn,  Chi ldren can adjust  
by themselves.
c.  High or low speed switch---  (1)  When manual for  dr iv ing,  chi ldren can adjust  the speed by 
themselves. 
(2) The funct ion of  the remote control  is  preferred. 
d.  One-key switch of  l ight ing system---  (1)  L ights can turned on and off .
e.  Power display---(1) Electr ic i ty is displayed in the dashboard music operator,  which display 
the car vol tage. Display at  around 12.5V is suff ic ient .  I t  need to charge when display at  around 
10V.（Referr ing to Picture 7) 

USB 

steeringcharger Instrument light

go forward/go backlight/speed

forward

Back

speed

Stop

Turn right

Turn left

Speed light


